Statistics 300 Tue./Thu. g / é.
Quiz #15 7:00-8:50 p.m. Name: Qoluaon

(9 points:12 minutes)
1. Some people want to compare the proportion of high school boys that smoke cigarettes

to the proportion of high school girls that smoke cigarettes. Use the data below to test
the claim that the proportion of boys that smoke is 5% bigger than the proportion for girls.
(Use the classical approach to hypothesis testmg with a 0.10 significance level.)
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2. Some people want to compare the proportion of high school boys that smoke cigarettes

to the proportion of high school girls that smoke cigarettes. Use the data below to test
the claim that the proportion of boys that smoke is the same as the proportion for girls.
(Use the classical approach to hypothesis testing with a 0.10 significance level.)
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3. Some people want to compare the proportion of high school boys that are "overweight"
to the proportion of high school girls that are "overweight”. Use the data below to make
an 80% confidence interval for the true difference between pg (the proportion of all girls
that are overweight) and py (the proportion of all boys that are overweight).

Overweight | Girls Boys ?O(Z CI(yB - @) =

Yes 418 486 A i = 7 A '
< lala] (Bodore, [ b ip
MN= (669 H55 7 e
I .
Cogg e s (sdidmie. =0. 50

=0,22% = 0,294 0{ = )-0.80 =0.20
A A |

- | =0..0

0, =071 =015 i.(Z/z ey

A -

,& /
C‘I@l){ 09&): /0‘19% —0‘2236) £ ) 28 @,z‘lfé/(o,7§/t()+ @ff@@b_@
195§ (¥67

- 0,025 £/ 25(@"0/37)

+ 0.016

=
(f-00)< szjw

0.025

-—

PW




